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Q. P. Code: 38423
(3 Hours) Total Marks : 80 >
N.B.: (1) Question no. 1 is compulsory.
(2) Attempt any 3 questions from remaining Q. 2 to Q. 6.

(3) Use statistical tables wherever required.
(4) Figures to right indicate full marks.

Q1 ; :
a Find the coefficient of correlation from the foll
XY=189, (X — 22)%=85 Y (Y — 19)2-25
b

Evaluatef logzdz where cis [zl 1

- 08
: evtheorem evaluate [° FineiTe
06
dMG ,:"65f'Poisson distribution .Hence find it’s mean and variance 08
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Q6

Is the matrix A derogatory? justify your answer where A=‘[V" '

A random variable X has the following p.d.f.

f(x) =kx?e™ for x >0 -and f(x)=0 otherwise .Find (‘i);k": (
(iVM.G.F. (v) c.d.f. of X (vi) P[0<X<1] =

Find all possible Laurent’s series of f(z) =
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